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SECOND YEAR HIGHER SECONDARY EXAMINATION, MARCH 2022

Part — III Time : 2 Hours
COMPUTER APPLICATION Cool-off time : 15 Minutes
(COMMERCE)
Maximum : 60 Scores
(Hearing Impaired)
/General Instructions to Candidates : \

e There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

e Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.

e Read questions carefully before answering.

e Read the instructions carefully.

e Calculations, figures and graphs should be shown in the answer sheet itself.

e Malayalam version of the questions is also provided.

e (Give equations wherever necessary.

e Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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PART -1

A. Answer any 5 questions from 1 to 9. Each carries 1 score. Sx1=5)

—

Basic building blocks of C++ programs are known as
(a) Character (b) Tokens (c) Statements

2. Find the value of Mark[3] based on the following statement ?
int Marks[5] = {50, 55, 56, 57, 58} ;
(a) 55 (b) 56 (c) 57

3. Which attribute of <BODY> tag is used to give background colour to the web pages ?
(a) Bgcolour (b) Background (c) Text

4.  The keyword used to declare variables in JavaScript is
(a) Number (b) String (c) var

5. Find the odd one out.
(a) Oracle (b) SAP (¢) Gimp

6. ERP stands for
(a) Economic Resource Planning
(b) Enterprise Resource Planning

(¢) Economic Referral Planning

7.  The satellite based navigation system used in vehicles to locate its geographical
position is .
(a) SMS (b) GPS (c) MMS

8. Which of the following is a Linux-based operating system designed for smart phones
and tablet computers ?

(a) Android (b) 10S (c) BlackBerry

9. A criminal activity in which computers are used as a tool, target or place of activity is
called .

(a) Cyber Game (b) Cyber Forensics (¢) Cyber Crime
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PART -1
1 :y®@8 9 0160 aBo@&El0 5 G218 1B ROMOHAN)®)D. 1 capod allo.
5x1=5)
C++ 9.1 @RSITNIMalORIW QIOEN)GHOS af)am aflglesan).
(a) Character (b) Tokens (c) Statements

6% ®ANIAlENAM (*IMVAINMH® @RSITLNoMadasl Mark[3] @es aflel af)(@oem ?
int Marks[5] = {50, 55, 56, 57, 58} :
(a) 55 (b) 56 (c) 57

oMl Gallm) altGME!I Ml0o HBGISIINMDIM) Dalcouilaman <BODY>
soutlead attribute agy@oem ?
(a) Bgcolour (b) Background (c) Text

JavaScript @3 cIRIMI8)®HUB 621QMN@IM OalcIWlEMMM &l caidaw
@Ry6M.
(a) Number (b) String (c) wvar

B)SOHIB3 HAISITIND) DHEENBDTND> ?
(a) Oracle (b) SAP (c) Gimp

ERP @)0)S a1j3gD0)alo af))®)d> ?
(a) Economics Resources Planning
(b) Enterprise Resources Planning
(c) Economic Referral Planning

DalaOTBBOS  TVAOIVOMIG  AVAOMEBHOS  TLOIMMIBNVo  MSTDHOM
MVa00XAENIN AVEEDo @RYS
(a) SMS (b) GPS (c) MMS

apodg  GandeMBElene  SoMIQT  doalgdsElee  Dalcoudlaman  ellmgy’
@RWlHOI®ROW 630a|E0gloUy MUIQVe aB@I6M ?
(a) Android (b) 10S (c) BlackBerry

HMIPSA Dalc@IPa] MSGDIN (H1AIM@E HQATIM 2 l0WIAN Cal® @RS

(a) Cyber Game (b) Cyber Forensics (c) Cyber Crimes
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B. Answer all questions from 10 to 13. Each carries 1 score. 4x1=4)

10. Accessing each element of an array atleast once to perform an operation is known as

(a) Searching (b) Traversal (¢) Sorting

11. Port number for HTTP service is

(a) 20 (b) 80 ) 110

12.  Which user have control over the whole database ?

(a) Programmer (b) Naive user (c) Data Base Administrator

13. The number of rows in a relation is called

(a) Cardinality (b) Degree (c) Row number
PART - 11
A. Answer any 2 questions from 14 to 17. Each carries 2 scores. 2x2=4)

14.  Which are the components of a loop statement ?

15. What is the difference between call by value and call by reference method ?

16. Categorise the following tags into container tag and empty tag :

<HTML>, <BR>, <BODY>, <HR>

17. List the basic data types in JavaScript.
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B. 10 2)®@3 13 0160 af)£10 G103 8BUdEN)0 DOMOMAN)®)H.1 capod all@o. (4 x 1=4)

10. 830} GROWISE! af)Blo af)er1ead MlOM®)e B0} MAIEM af)BlLl)o BRI’ HalQAN

(AIQIETHEE) al0WYAM Gald @R

(a) Searching (b) Traversal (¢) Sorting

11. HTTP cavaimo £IG{RMISHIN DalE@IUIlENaM Gald@g MIUA @rysm’

(a) 20 (b) 80 (c) 110

12.  awogoeeniadlom anydsmaoe] Ml@@lee)am @)arv@ @ryoosm ?

(a) Programmer (b) Naive user (c) Data Base Administor

13, 80 diecelauailons AIGlag)eS af)sho @Ryem’

(a) Cardinality (b) Degree (c) Row number

PART - 1I

A. 14 2)®a3 17 2190 aBo®E1Ll)o 2 GaldBiEBUdEs QOMONAYI®). 2 ¢aYIAQ afl®o.
2x2=4)

14, 80) e)a] (ITAIMDIE LI CLISHEBUD aBO@IDS @RS ?

15. Call by value, call by reference snal @oalenss QII@PIVo af)a»I6M ?

16.  ©26% ®aMIAlE9NINAINW HEMEPB SN0 af)oaifl SO BBYWI Do GIBIH)M:.

<HTML>, <BR>, <BODY>, <HR>

17.  JavaScript 21 @eSInu0om adg OeSa )08 alSldhea |S)OTm)D.
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18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

Answer any 2 questions from 18 to 20. Each carries 2 scores.

List any four form input controls in HTML.

Write any two built-in-functions in JavaScript with their use.

Write three mathematical functions in C++.

PART - 111

Answer any 3 questions from 21 to 24. Each carries 3 scores.

(a) Declare an array to store mark of 10 students.

(b) Find the memory space allocated for this array ?

Compare client side scripting and server side scripting.

Write short note on operators in JavaScript.

Explain three types of web hosting.

Answer any 2 questions from 25 to 27. Each carries 3 scores.

Write the structure of a C++ program.

(a) Which tag is used to create hyperlink in a webpage ?

(b) Write any two attributes of this tag.

List the risks of ERP implementation.
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18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

18 2)®@3 20 Q160 aBO@EILI)0 2 G213 EIBUBSS ROMOOALI®). 2 ¢aLOA all@o.
2x2=4)
HTML ee1 ago@®esleljo ML) Gando g8 )G HemESo8)d03 LTy 619w

JavaScript el ago®eslelo ©ane) built-in aNBaHMI®BSle BGRAIWINS DalCINAI

af) DB,
C++ ee1 @yam Mathematical a06BaHMBHUB af) 9)®)H.

PART - 111

21 2)®@3 24 Q190 aBO@B]LNo 3 GaldBIIBUBAH OMOOAY)®)d>. 3 caAPI@ all@o.

B3x3=9)

(@) 10 ollapdmdlegips @889 CIYIB alQINTIMBB B0} @REO WIGOA
621Q) . 2)
(b) Y @REOVH @PMAIABHAISIAM HANG] CTRAV ag)(@@ET) ? 1)

Client side scripting 9o server side scripting 9o @0@A o §)21%))d.

JavaScript el 60a|c0g0)3»68 H)la] 6210} B)Gla | af)9)®)d.

2N @0 H-AIENT Ca0ITUo)BHOS d)0la] AlVoElGl9e)b .

25 my®@3 27 Q190 aBO®&sILNo 2 G203 iEBUREH ROMONAY®)d. 3 ¢aVIA afloo.
2x3=06)

C++ choJoLcno%)c@ ALISM af)OYOND.

(a) eIl ¢allG8 §6a0a|BelB D36 ISIOIM DalCWOUTENAM SOU) aB@e ? (1)

(b) v soUlend agomesleno 06NE) @RYSIMINSIHUB a9 ®D. 2

ERP implementation ee1 Slapad3 ellgy o196
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28.

29.

30.

31.

32.

33.

34.

PART -1V

Answer any 3 questions from 28 to 31. Each carries 4 scores.

Compare static and dynamic webpages.

Write HTML code to create the following table :

Subject Mark
English 80
Computer Appln. 60

Explain the advantages of DBMS.

Explain any four cyber crimes against an individual.

Answer any 1 question from 32 to 33. Carries 4 scores.

List the data types in SQL.

Define the following :
(a) Patent

(b) Trademark

PART -V
Answer any 2 questions from 34 to 36 Each carries 6 scores.
(a) Explain lists in HTML.
(b) Write HTML code to create the following list :
(1) Monitor
(2) Keyboard
(3) Mouse

(4) Scanner
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28.

29.

30.

31.

32.

33.

34.

PART -1V
28 2y®@3 31 Q190 aBO®B]L1o 3 Gal1dBIIBRIBAH CMOOAY)®)d>. 4 cALIA all@o.

(B x4=12)

TRogld HAIMICA IR HOAMOAID HAINIEAIZR) TOOMA Yo HalQ)d.
lele}

@069 @AVIABlENAD algld ®QY00ENMM@IMEs HTML €300 ag)91@)d.

Subject Mark
English 80
Computer Appln. 60

DBMS 63 camadd alluodlaolas)s.

B30) QINADIED  af)TNOOWITH  ABO@BILNe  MOLI)  HOAVMNIB  H)JH @GR
flvodl @@ 09

32 2)®@3 33 Q190 aBo®B1E1o 1 G213 OMIM QOMOOAY)®)d:. 4 GAVIA.

(1x4=4)
SQL &1 wdq ©6Sa|jd»eS alSldhea|S)o1m ).
®96¢ @aNIABlaemMAal MBIl :
(@)  GaIQmBO Q)
(b) eEWw 20888 ?2)
PART -V
34 2)®@3 36 QIO aBO@BILNo 2 GaldBIIBUIBAN ROMOOAY)®)d>. 6 caAPI@ all@o.
2x6=12)

(a) HTML ee1 ellguiseg @)0la] alluodlaclee)d.

(b)  ®@e¢ ®aMIBlen eilay ®Qo0eIM)8s HTML ¢80l af) )@ :
(1) Monitor
(2) Keyboard
(3) Mouse

(4) Scanner
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35. Explain the operations used in relational algebra.

36. (a) Explain the components of SQL. A3)

(b) Categorise the following commands into DDL and DML : A3

CREATE, SELECT, INSERT, ALTER, DROP, UPDATE, DELETE
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35.  oleelauem@d @Ryu3edl nIWIG8 9aIcIUfl¥)IM B0a|E0aHM)HU3 0laIGlH9)H .

36. (a) SQL oad ceisaemud allvadla:dlon)d. 3)
(b) ®26® ®MIGBEHAM HA2WBW)H68 DDL 90 DML 90 @@l @00 @H@loed: 3)

CREATE, SELECT, INSERT, ALTER, DROP, UPDATE, DELETE
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